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Topic:- Child Development & Pedagogy (CDP)

1) Today’s classrooms now welcome learners. / 3T &1 H&T3M A 3@ RremfRiay &1

AT giaT g1
1. Talented / ATTHTRITAT

2. Diverse / fafay
3. Gifted / UfqHTRICH
4, Special need / faRRy Sevade

Correct Answer :-

. Diverse / f[afay

2) Short term deficit of sleep affects learners by: / :ﬁ'c{ B reTafe HH ﬁT&‘I’Iﬁﬁff G|
UHTfad I & :

1. increase in weight/ avﬂffq@

2. increasing the risk of diabetes/ q’ﬂfl—s' DI YA del

3. weakening immunity/ HHGIR TfaREf

4. reducing concentration and memory/ U TId] 3R Fﬂﬁf DI HH HIAT

Correct Answer :-

« reducing concentration and memory/ U TIdI 3R Fﬂﬁf DI HH HIAT

3) Inequality in education has been reduced in India due to: / HRd ﬁ'ﬁT&IT H Ul

A A 9 P PR FH I 1S §:
1. Religious intervention/ JiEcg Wa'q

2. Social Reforms/ HHIS JUR



3. Constitutional provisions/ HauT-e graer™
4. Cultural diversity/ G fafdear

Correct Answer :-

« Constitutional provisions/ AT Urae™

4) NIOS is an example of agency of education. / qqanéeﬁw, Rrem ot
Tol N T Td ISR B

1. non formal / ﬁ?-e?lwﬁw
2. formal / W

3.NGO / Tsiaf
4. informal / SRS

Correct Answer :-

e non formal / ﬁ?—\’rﬁw

5) What are the family and community resources that children can draw upon collectively
called? / T UTRETR® 3R ASIRI® WHTY F1 &, o IR 9= G1fe® U ¥ e fa
3 HPA 52

1. Membership capital / ¥l Q\Gﬁ
2. Structural capital / IXITTHD Q\Gﬁ
3. Fiscal capital / ASTHINR Q\Gﬂ
4. Social capital / BIGIEED u;:ﬁ

Correct Answer :-

« Social capital / T Ufrﬁ

6) What are the ways to engage students in problem-solving strategies & extend their
thinking? / THET &1 A Pt IUHIA] A ST B1 AT B SR AP AG DI W
TR HNF AT

1. Use of concept formation, inquiry & synectics / SAAYRUN TS, AT 3R RT3 BT
ST

2. Addressing questions again & again/ dR-dIR YH CIRSCIRCERS
3. Talking to friends nicely/ Gl 3w I a1 HAT
4. Giving them extra homework / 378 AR HEAR B ST



Correct Answer :-

« Use of concept formation, inquiry & synectics / SIGYURUIT TS, Y5 dld 3R RT3 BT

7) What type of reasoning is characterized by moving from the general to the particular? /

AT A fAIfRIP #1 3R 9¢d g fFd U R & a& &t fa=ivar a8 ol 32
1. Transductive reasoning / URITE ddb @mwﬁa RSIEH)

2. Inductive reasoning / 3{ITHATHD ad ($'S\IFO?COI NEEa)
3. Deductive reasoning / IBUEICAEAGEY m NEEL)
4. Hypothetical reasoning / UIddh cU-THD GEQ (E'Igcﬁaﬁﬁ st

Correct Answer :-

« Deductive reasoning / TS db (ITSSIFOI\COI ISTT)

8) What is the part of memory that stores information that one is not consciously aware of? /

%@?ﬁﬁqmm%,ﬁaﬁmmm%ﬁﬂaﬁﬁawﬁwqﬁ

1. Dual memory / FRR Fﬂﬁ[

2. Explicit memory / YU¥ F{ﬁf

3. Implicit memory / &Iﬂﬁﬂ%ﬂ Fjﬁ[
4. Conscious memory / IS Fjﬁf

Correct Answer :-

o Implicit memory / \}Hﬁ%ﬁ Fﬂﬁf

9) What is the phenomenon wherein previous exposure to a word or concept makes later

recollection easier?/WWW%WWWWWW%@'&W'&%@
1S BT THRUT STHT & SITdT 82

1. Priming / PIE{ER

2. Deriving / EQ?CFR'T

3. Subliminal perception / 3 T AHUT
4. Subconscious memory / RICERE] @jﬁf

Correct Answer :-

 Priming / ISt



10) Children are asked to narrate a story during the administration of which test? /e

Y& & FATA & SR gl Dl BT GAT & e g1 oI 82
1. Children’s Apperception Test (CAT) / qTd-3Fare TRieq (rueh)

2. Minnesota Multiphasic Personality Inventory (MMPI) / fTeT AecIthivle TRHTe Sded]

3. Wechsler’s Intelligence Scale for Children (WISC) / CERNN 3%1%‘!@?‘.’ A BR ﬁl@q

4, Thematic Apperception Test (TAT) / A STeaTe TRieqor (Eﬂ'qa)

Correct Answer :-

« Children’s Apperception Test (CAT) / - Sa e RIefor i)

11) Learner autonomy is a characteristic of: / et warawar foa &1 fagivar %?
1. Formal education / 3NT=TRa e

2. Traditional education / TRUR &

3. Progressive education / TTorRite fRren

4. Inclusive education / FHTA fRr&f

Correct Answer :-

 Progressive education / oTforRiteT fRre

12) Raven’s Progressive Matrices Test measures: / ¥a9 BT URIRG ﬁﬁﬂ & HIUT B:

1. Intelligence / §@
2. Personality / SAfadd

3. Attitude / TG

4. Motivation / OO

Correct Answer :-

« Intelligence / §@

13) According to Piaget, children’s development is progressing through 4 stages. /

e & SgER, I=i @1 a9 4 TR & ATeHH | WIfd B BT 71
1. Physical/ Hifdd



2. Emotional / HIGI(H®P
3. Functional / m
4. Cognitive/ IMTH®

Correct Answer :-

« Cognitive/ TMTHD

14) Many people who were alive at that time remember exactly where they were and what
they were doing when they heard that Rajiv Gandhi was assassinated. What type of memory

is displayed here?/ﬁmﬁwwm%mﬁﬁ%w@amsﬁaﬁmwaﬂé
zﬁvﬁﬁ%%a%aﬁﬁﬁm%%%ﬁ&aﬁﬁwaﬂ@& | I51 fpa UpR &Y [

1. Flashbulb memory / qﬁﬁﬁ Fjﬁf
2. Declarative memory / ITYUNE® Hfd

3. Sensory memory / Sdal Wfd
4. Semantic memory / 31T i

Correct Answer :-

« Flashbulb memory / Qﬁfﬁ'ﬁ?{ Fﬂﬁf

15) Learners are not included under “Exceptional Category”. / Rrenfday

& " SqaTerE® i F sfarfa wnfre =&Y far s
1. Normal / JTERUT (FATHa)

2. Retarded / Hg (Re1ES)

3. Gifted / UfaHTRITS (FTUCS)

4. Slow / T8 (Fa

Correct Answer :-

« Normal / HTYRU] (:l'\lﬁ?l)

16) If a learner has difficulty in reading, then what type of learning disability? / afe e

Rrendf w1 ug ¥ ST el B, ot 3 v ybR F rferT srgrmran @2
1. Dysgraphia / feguTithan

2. None of these / S7H U BIg o

3. Dyslexia / fo&ifagan



4. Dyscalculia / %@magi%raﬂ

Correct Answer :-

 Dyslexia / SNIESR

17) An infant takes time to distinguish the father from other men. This aspect of
development happens because of the following principle. / T fQT'{[ Pl fUar &1 3= g?mﬁ' g
3R HA | THI 1 3 | AT &1 95 eRPiv1 15 Risia & FRur gran g

1. Whole to Part / E[Ufa 3

2. Centre to Periphery / b I gy

3. Part to Whole / Gi'QTﬁELUf

4, General to Specific / IH] ) ﬁﬁl’g

Correct Answer :-

« General to Specific / HTHI @f ﬁﬁrg

18) The famous physiologist whose work on classical conditioning influenced the field of

child psychology is: / TRTg TRR-forar fagrt (FRpforaaifore) fora®T IRt sgga+
(FTRIP A BT W forar a1 S a1d A=Ay & &9 H yHIfdd #arg, 3 &

1. Edward Thorndike / TSdS USSP

2. Wolfgang Kohler / AT Oh\IGQ'R
3. Jean Piaget / S Tt
4. Ivan Pavlov / 9T UTaaild

Correct Answer :-

« Ivan Pavlov / $dT9 UTda@ld

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws

of learning? / PETAd “Teh HHEdl & 91 3P JHhadl fedl g 17 i & feg Faw
W AN g1 82

1. Law of exercise /31 & FaH
2. Law of readiness / dUxdl & g
3. Law of effect / THTd o f1H

4. Law of success /qbardl o (9

Correct Answer :-



. Law of effect / UHTd & FaH

20) The characteristic of behavioral objective is: / WTWG%W ot fawar g:
1. None of above /Wﬁ@ﬁéqﬁ

2. Observable and measurable / SAAHA AR TRAG

3. Observable and Immeasurable / 3AAH-IT 3R RAFT

4. Non-observable / TR-3fa@IB-1g

Correct Answer :-

« Observable and measurable / B 3‘ﬁ? ey

21) Which of the following is a Humanistic view of motivation? / Frafafeda § 3 uRonm &1

AHTdTard! Sf¥aior ®m g2

1. Need for self-esteem and self fulfilment / STETFHT P HTIIHAT 3R HTH ?ﬂﬁf

2. Beliefs, attributions for success and failure / YIRUI, b Il bl g 3R B!
3. Goals, expectations and self-efficacy / ¢1&U, IHG 3R 3T YHTIHTRGT

4, Incentives, reinforcers and punishers / U?PW-FL %\i‘ad_@d?di 3R GUS o aTdl

Correct Answer :-

- Need for self-esteem and self fulfilment / ST B! HTTRISHAT 3R T Frad

22) How many primary stages of development are present in Kohlberg’s theory on moral

%evelopment? /%WWW%WﬂW%ﬁmﬁmmwﬁw

1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / 3 GHFnﬁ_d far %
& gaft = o FrEq Ft emar gt 21



1. John Dewey SiG Sﬁ

2. Freud / /IS

3. Friedrich Frobel / TheRa Whiad

4. Maria Montessori / aar ﬁ%ﬂﬂ

Correct Answer :-

« Friedrich Frobel / bgRe® WHigd

24) are creative skill practice books for children for the enrichment of their

creative thinking. / T P TWATHSD A9 P Hadq & oI =TS P13
ford gwaah 31

1. Enrichment books / WW

2. Idea books / WW

3. Integrated books / Ui d Y

4, Creative books / XddIdHD g%daf?

Correct Answer :-

« Idea books / fdaR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: /

“ufte T g1 & YR & ARG ;RO S WE ged § -
1. Family / URaR

2. Parents / HTAT-fOar

3. Primary caregiver / Ui TgadH

4. Teachers and peers / R1&/® 3R ggurdt

Correct Answer :-

 Teachers and peers / e 3R Tgurat

26) The passion for doing anything in the absence of any compulsion or reward is

/ Tt oft areman a1 39 & JiuTa °§ oo W HA w1 o]
1. Intrinsic motivation / STGd¥Td 3{fHURT

2. Extrinsic motivation / GTHTId 3TN
3. Achievement motivation / ST s URUT
4. Level of Aspiration / 3{TohT&T b1 TR



Correct Answer :-

« Intrinsic motivation / GG JfHUROT

27) Which of the following is NOT a form of misconception? / fFafafaa # 9 =i
TS TTAd YR 8] 82

1. Vernacular misconceptions/ HIJHIHT o @@

2. Cognitive conflicted ideas / IMTED TR faRieft foar
3. Non-scientific beliefs/ G‘Iaﬁm II'FCI?ITQ

4, Preconceived notions/ qgll'fﬂ_tﬂ ICEIN

Correct Answer :-

« Cognitive conflicted ideas / HTHD TRER faRIeh faaR

28) Who strives to answer such questions as well as to understand, explain
and predict behaviors that occur throughout the lifespan? / Siaq W= g1 a1
IER B! GHIH, UM 3R UIwraroht 33 &1 TR 33 & 91y-a1y 3 ward) &
SIaTd ®I9 3l 82

1. Developmental psychologists/ EEARIGAES J-I'-|I2|Q‘III P

2. Vygotsky theorist/ dl$‘l\l(‘€d’>nl RIGideR
3. Fraud theorist/ %hET?Eﬁ foarR®

4. Erikson theorist/ TRHI RIGiddR

Correct Answer :-

+ Developmental psychologists/ CEARSICCREICRIIBEY

29) To motivate an auditory learner, the teacher should encourage him/her to

./ vl Rrenfiay @) aftva #1 & forg, Riere $1 A Mred w31 g &
|

1. use reading material in small units / BIct $Ghl'$q\l. H U IRl &1 SUART &1 |
2. participate in club activities and skits etc / & @1 ATl 3R e (Repe) 3fe & wmT |
3. participate in discussions / =1 § gfwferd gl

4. use coloured pen and highlighters while studying / UgTs ®<d THT WH B 3R gEaRey &I
TR B |

Correct Answer :-



+ participate in discussions / oot § giHferd gl

30) The effective learning as per Piaget’s theory is ./ T & Rirgia & SR yurd
rftrma 2

1. content acquisition / RIEPIREING]
2. root memorization / HcT YT XQAT
3. active learning / gfghd STATH

4. reading by heart / ThTIdI | UeHl

Correct Answer :-

« active learning / gfdg sfferH

Topic:- General English(L1GE)

1) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That
media is a vehicle of opinion formation is no bone of contention, what is to be argued upon,
though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a
nation’s sentiments and progress as the fourth estate or not. Sensationalism and popularity have
long overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to
the fact that media propaganda and consistent patterns of reporting can and have heavily
influenced the cornerstones of democracy, this is no novelty though. Following what the mob
says or believing the voice that is the loudest has been happening since time immemorial but are
these voices contributing to the welfare of commoners or increasing their quality of life is a
question that looms large.

According to the passage, what is it that determines which event/incident is published in the media?
1. The urgency or veracity of the news item.

2. The number of people who can be impacted by the issue covered.

3. The money paid for the particular news item.

4. The television rating points value a news item is believed to hold.

Correct Answer :-

* The television rating points value a news item is believed to hold.

2) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That
media is a vehicle of opinion formation is no bone of contention, what is to be argued upon,



though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a
nation’s sentiments and progress as the fourth estate or not. Sensationalism and popularity have
long overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to
the fact that media propaganda and consistent patterns of reporting can and have heavily
influenced the cornerstones of democracy, this is no novelty though. Following what the mob
says or believing the voice that is the loudest has been happening since time immemorial but are
these voices contributing to the welfare of commoners or increasing their quality of life is a
question that looms large.

What does the word cornerstone mean in the context of the above passage?
1. Stone
2. Pillar
3. Basis

4, Threat

Correct Answer :-

e Basis

3) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That
media is a vehicle of opinion formation is no bone of contention, what is to be argued upon,
though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a
nation’s sentiments and progress as the fourth estate or not. Sensationalism and popularity have
long overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to
the fact that media propaganda and consistent patterns of reporting can and have heavily
influenced the cornerstones of democracy, this is no novelty though. Following what the mob
says or believing the voice that is the loudest has been happening since time immemorial but are
these voices contributing to the welfare of commoners or increasing their quality of life is a
question that looms large.

What can you infer from the above passage?

1. That media has the ability to mould civic estimation
2. That media has made leaders behave differently

3. That media has ruined public life

4. That news is no longer a medium that is reliable

Correct Answer :-

* That media has the ability to mould civic estimation

4) Read the following passage and answer the question that follows:



What is seen and heard over popular media has a lasting impact on the general public. That
media is a vehicle of opinion formation is no bone of contention, what is to be argued upon,
though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a
nation’s sentiments and progress as the fourth estate or not. Sensationalism and popularity have
long overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to
the fact that media propaganda and consistent patterns of reporting can and have heavily
influenced the cornerstones of democracy, this is no novelty though. Following what the mob
says or believing the voice that is the loudest has been happening since time immemorial but are
these voices contributing to the welfare of commoners or increasing their quality of life is a
question that looms large.

Which of the following statements is true as per the passage?

1. Journalism in the recent past has been the torchbearer of truth.
2. Media has been the best vehicle of opinion formation.

3. Media has the power to influence the common public.

4. Media cannot mould public opinion.

Correct Answer :-

» Media has the power to influence the common public.

5) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and
pharmaceuticals. Honeybees are social insects that live together in highly organized colonies.
Each member has a specific job to do. A single honeybee cannot grow or survive by itself. The
three distinct kinds of honeybees in a colony are queen, worker, and drone. The queen’s function
is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees
are few in number and their main function is to mate with the queen, after which they die. The
worker bees perform a variety of jobs. They collect nectar and pollen to make honey. They
produce wax to make new honey combs. They guard the hive entrance and they feed the young
ones.

What is the function of a queen bee?

1. To lay the eggs.

2. To go out and fetch honey.

3. To divide the work.

4, To monitor the work of other bees.

Correct Answer :-

« To lay the eggs.



6) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and
pharmaceuticals. Honeybees are social insects that live together in highly organized colonies.
Each member has a specific job to do. A single honeybee cannot grow or survive by itself. The
three distinct kinds of honeybees in a colony are queen, worker, and drone. The queen’s function
is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees
are few in number and their main function is to mate with the queen, after which they die. The
worker bees perform a variety of jobs. They collect nectar and pollen to make honey. They
produce wax to make new honey combs. They guard the hive entrance and they feed the young
ones.

What is the function of worker bees?

1. Collect the nectar and pollen to make honey.
2. Assist the drone bee or male bee.

3. Assist the queen bee.

4, Lay the eggs.

Correct Answer :-

« Collect the nectar and pollen to make honey.

7) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and
pharmaceuticals. Honeybees are social insects that live together in highly organized colonies.
Each member has a specific job to do. A single honeybee cannot grow or survive by itself. The
three distinct kinds of honeybees in a colony are queen, worker, and drone. The queen’s function
is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees
are few in number and their main function is to mate with the queen, after which they die. The
worker bees perform a variety of jobs. They collect nectar and pollen to make honey. They
produce wax to make new honey combs. They guard the hive entrance and they feed the young
ones.

According to the passage, how many eggs does a queen bee lay on an average?

1. 1000
2. 500
3.2000

4. 1500



Correct Answer :-

8) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and
pharmaceuticals. Honeybees are social insects that live together in highly organized colonies.
Each member has a specific job to do. A single honeybee cannot grow or survive by itself. The
three distinct kinds of honeybees in a colony are queen, worker, and drone. The queen’s function
is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees
are few in number and their main function is to mate with the queen, after which they die. The
worker bees perform a variety of jobs. They collect nectar and pollen to make honey. They
produce wax to make new honey combs. They guard the hive entrance and they feed the young
ones.

Where do the bees live?
1. In a kennel

2. In anest

3.In a hive

4. In a tunnel

Correct Answer :-
e Inahive

9) Fill in the blank with the correct option in the given sentence:

The small grooves in long-playing records are called --grooves.
1. macro --

2. micro --

3. multi --

4. poly --

Correct Answer :-

e micro --

10) Fill in the blanks with the correct option in the given sentence:



The hall is attract-- decorated and the decorat-- have done a splendid job.
1. --ed ... --ion

2. —ive ... —-ively

3. —-ively ... --ors

4, --ion ... --or

Correct Answer :-
o —ively ... --ors

11) Which of the following options best combines the given sentences?

Mr. Joseph is a writer. He writes in a powerful style.
1. Mr. Joseph, a writer, write in a powerful style.

2. Mr. Joseph, having powerful style of writing.

3. Mr. Joseph'’s writing is a powerful style.

4. Mr. Joseph writes in a powerful style.

Correct Answer :-

e Mr. Joseph writes in a powerful style.

12) Choose appropriate articles for the given sentence:

Mimeis ____ type of performance carried out without _____ use of props or language.
1. No article required... No article required

2. No article required ... an

3.a..the

4, the ... an

Correct Answer :-

13) Choose appropriate article for the given sentence:

MP (member of parliament) visited our school today.
1. No article
2.A

3. The



4. An

Correct Answer :-

14) Choose the appropriate determiner for the sentence given.

of the shops in our area are closed on Sundays.
1. Any
2. Most
3. Every

4, Much

Correct Answer :-

e Most

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The company pays a lot of taxes to legally bring goods into the country

1. A lot of taxes by the company are paid legally bring goods into the country

2. A lot of taxes are paid by the company to legally bring goods into the country.

3. The country is paid a lot of taxes by the company to legally bring goods.

4. Lot of taxes by the company is paid to legally bring goods into the country.

Correct Answer :-

« A lot of taxes are paid by the company to legally bring goods into the country.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:

The doctor said to the patient, “You should quit smoking immediately.”
1. The doctor said to the patient you should quit smoking immediately.

2. The doctor said to the patient please quit smoking immediately.

3. The doctor asked the patient that to quit smoking immediately.

4. The doctor advised the patient to quit smoking immediately.

Correct Answer :-

e The doctor advised the patient to quit smoking immediately.



17) Choose the appropriate synonym for the highlighted word in the given sentence.
He refused to admit his mistake.

1. allow

2. argue

3. say

4, confess

Correct Answer :-
e confess

18) Choose the appropriate tenses to fill in the blanks in the given sentence :
He__ shortofcash,sohe___ me a post-dated cheque.

1. has been, has been giving

2. will be, will give

3. is, had given

4. was, gave

Correct Answer :-

e Wwas, gave

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Chefs today create new dishes by putting together interesting foods.

1. Manipulate
2. Fuse
3. Destroy

4. Defuse

Correct Answer :-

e Destroy

20) Choose the appropriate conjunction for the given sentence.

She will not remember about her guitar class you remind her.



1. when

2. s0

3. unless

4. if

Correct Answer :-

» unless

21) Choose the appropriate prepositions for the given sentence:
The expert wrote authoritatively __ the topic ____ exercise and its effects __ mental health.
1. with ... on ... with

2. 0on ..about ... in

3. about ... of ... on

4. against ... of ... towards

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

We achieve anything with our willingness.
1. can

2. might

3. Won’t

4. would

Correct Answer :-

23) Choose the option that best explains the highlighted expression:
I am prepared to compromise, but Raja won’t budge an inch.

1. allow my opinions

2. ignore my ideas

3. won’t change his opinion



4. disagree with me

Correct Answer :-
e won’t change his opinion

24) Choose the option that substitutes the given phrase appropriately.

Forceful or fiery speeches
1. Combat

2. Whiplash

3. Debate

4. Haranguer

Correct Answer :-

e Haranguer

25) Choose the most suitable pronouns for the given sentence:
____ratherpride____on____ cooking.

1. He ... him ... your

2. It ...its ... your

3. 1...myself ... my

4.1..me.. their

Correct Answer :-
e |..myself..my

26) Read the sentence carefully and choose the option that has an error in it:

Priya loosed her pen when she was playing.
1. Priya loosed

2. when

3. she was playing.

4. her pen

Correct Answer :-



e Priya loosed

27) Choose the right tag:

You're watching a soap opera, ?
1. don’t you

2.isn’tit

3. areyou

4. aren’t you

Correct Answer :-
e aren’tyou
28) Choose the appropriate tense to fill in the blank in the given sentence:

If he had gone to Agra, he the Taj Mahal.

1. have been seen
2. saw
3. had been seen

4. would have seen

Correct Answer :-

« would have seen

29) Choose the right tag:

Your friends can help you, ?
1. won't they

2. can they

3. can't they

4. don't they

Correct Answer :-

e can't they



30) Rewrite the following changing the active sentence to passive.

They jumped across the road when they saw the police van.

1. When the police van was seen by them they jumped across the road.
2. When see police van by them they jumped across the road.

3. When police van was been seen by them they jumped across the road.

4. When police van seen by them they jumped across the road.

Correct Answer :-

» When the police van was seen by them they jumped across the road.

Topic:- General Hindi(L2GH)

1) @1a1 bR BRI W, e v |
Hie g Aer v, 9fS FERT A1

AFERIGR GHR O §9T HidT Bl
HHdThd Jadl it 3d I31 3 7 S5 |

ST Ui H1 UgHR -9 U T Uy BT IR JaTsd:
- ‘S’ BT e g 71 72

1. Had I

2. Bad

3. SWRIGd T

4. ad (Aoid

Correct Answer :-

o SWRIad gt

2) 1T iR SRA yaT, IAfE v |
TYe g4 Al v, 9fS s sim i

AHERIGR GUR T §T BT BRI
YHared GohdT git 3d 31 3Fd 7 SIS |

Iued U= B) Ugh: 19 UD T Uy HT IR Iad133:
- ‘Hie’ W 772

1. fac=h

2. ddH

3. dead



4. oM

Correct Answer :-

3) SHERI § YT I TSI IFSE TS A1aT 31 7 59 fhAY s Y ugd oo BT Iap® Hen ared
g, @ S YT Pea 1 TYT JIYT 9P ¢ AT ITP AU, 3P fFARTue AfgwEr A 3@ ag ued ¢ & 3,
9@ g 7Y fpan o gopar | A Wi AR € el g8 T o) 3 € Rig $1 U YR AR A<l 21
Pt 98 TR TR 8, AfF Fit-waft 3/ ff Sy 3 € wiran 8, g 71 B Fft e FRa A gL A
@1 =T =re) e #) 9RY, A1 St TR, IS §F 9 A 319 ¢, 39S A8 W H Ry $ orr
Wt =t feang Aft1 Azma & AR THTY IR $AT B AT |, W g9 at 3 Hft g g A T | IuF AW
R R1E fAure wrft ©u & S1ar Edr 81 g9-g:F, g1-ary fadt oft gz & 39 gqaq 8 3@ wigi-
gfrat & foraa 7o €, 3 Tt ST WIeTsT $1 UgT Y €, W el 3§ 399 ® HedT &1 U BT g
TR BT MUTTH TAR & 1T Suged T §1 SRAT 7, HRdaTRmGl 3 anpier 3 Fa1 gézn &) w22
F1 ST ¥ 37 g+ A1 a1 Srar SuR IRTE T8l !, TR 1 $99a & e gare) 3@d €, o disa)
B 9 T, Al A TerE-znreT TE XA, IR A9 GABR TH @1 71 ¥ 57 off g ¥l per 9 g, 3
Siaq & 3Rl B a1 FRA &1 3R T 3¢ BT 9919 URR I T G A1 @ ¢ T Hga™ avrd | S
P forarer IR 21 v €Y faera A 3 SR @) g Snfaal § ug 941 ) afes w1 1 ue SYer Wis SR
i 3, 5t U9 U YT 71 3R 98 @ aa | for 3k A g7 e BT 9T F¥d €, $ S A frerd-gerd ord
# afar & a1 BT i TGRT 3 &1 PO A1 3 P UAE SapW H AIY Heil, IR gART faaR o1 T8t
21 99 Pt aRar ot 8, Fit-Poht sifsua 9e o T A smar 81 3R ot +E Sifoat / sruAT sy Uhe
PR AT 3, AU SHPT I 1Y A = 2

ST TR B USHR 1 UD T Uy o1 I<R Jarsd:

u=H- fEdt amert @Y qdar Y f5 sraR | gwifar wmar 82
1. 7141

2. 911

3.
4. gredt

Correct Answer :-

o TIYT

4) SHER! | TYT TN S1ET giSE TH S 81 g9 o9 fdft sneHt #1 ugd g BT 995® e agd
g, 91 S YT FEd B | TUT FIYT 396 § IT 3P WU, IS FAR1UE AfgwEr A QA gg uedi § €t 8,
91 (g T8 foran o gorar| T W AR €, et g€ A @Y s € Rigi &1 FU 4R 7 At
21 a1 ot g e IR B, Afea sf-wadt 3 W wiy o # 5iran 8, fhg 719 31 i wiy wva T
AT, 7 | e =arel e 3 ARt IR S w1, 93t g3 U 1A 319 6, 39P A8 W Hf
Ay 3t B1ar ot T8 fears 3| Avme § A1) UHhTY IR $Ad B ddT 8, W g9+ al 39 Hff g g
e 3| 3P g% W WrE fIurg Wl &0 & o1 &1 81 Y&-3:F, gi-arH foedt i a7 3@
ead "8t ¢l Bi-gfat & e 7o €, 3 @it 39 It 31 ugT T §, W et 39 J9gw
FEdl 8| TSUN BT 31T AATGR! HeTid WUTI TR & e Iugad 181 71 T 7, uRaaRmal #
SPYRT H T GERI Y TE) 82 Y 3diehT # 3% A e fan wirar? Sur TR 7 i, 9 39 guny
¥ T gaTe T@A €, o AsHT $ Fa ¢, frddl A deTs-3rreT 7 R, TR a1d S T T o1d &
fpx WY g\ &1 FET SITaT §, 3 Sitaq & 3mexf & 91 #d 81 3R Q $¢ BT Sae IR A AT HE &
dt e GG HEA™ T | AU Dt BRI I 71 T g faer A 39 SR 3t a Srfaal | oy 4 1
fean) AP 719 &1 v Bier Wi 3T oft 8, S ST FH S YT 81 3R 98 8 "I | o 3ref A g e *°v
WART #3d €, $O W A frerd-gaa ordf & -afsar & arss' &1 ot w1 524 1 $9 a1 99 F1 g



95! B WdAT F1, TR gURT fIaR ¥ 1 81 S Hft-w ol arar oft 8, wlt-woht aifdga 9 ot
@A ¥ et 1 3R Y $E Afal A 3ruAT SRAAY UPpe B AT €, AU ITPT I T A =1 2|

IUYed TR B USHR AR I T ¥Y BT IR q4133:
- JTSTT o | aread 72

1. Ffeg 9d

2. gfeA da

3. S0 4 IS gl

4. g3 9d

Correct Answer :-

- golad

5) SFGER) | YT IS SATST gfga 1= U ST 81 89 oid {6} el &1 ugd oot &1 S99 % He-T dared
g, A 3 YT Fed T | YT JIYT I9HE § T 3B WU, g fFARue IR A A qg uedi T &t B,
g g T8 foran s T T W AR §, el g€ T @ s € Rig #1 T 4R # Adt
21 1 Y 9ga e 9 8, afed Ff-saft 3 off wie 3 € wran B, fheg 19 Y Haft iy v A
AT, 9 & | e =@re) e $ ARY, TR S wR1e, 9 g3 U A 319 €, 39P A8 W H
Ay F B1ar ot ) fears 3| Avme W AR Uy IR FAd B AdT 8, W g9 a1 39 Hft g g
TR 3| IHD Ygy W WS faurg WRdt &0 § BT 36d1 ¢ 1 JE@-3:9, Fii-ary fedt oft qd 3@
gead Tl @1 BiE-gial & R o7 €, 3 9t ST WieTsT %1 gy T 7, W et 39 Jaew
FgdT ¢ | TSIUN BT 31T 3AATGR! FeTid WUT TR F e Iugea 78 31 e 7, uraaRmal #
TBIHT H T S B IET 82 ) ST H 3= YA e} faan wirar? 9 IRTE e fie, ¥R 1) ang
¥ forT ST TEd §, oft dis® F1H #d B, fdl A aS18-3r1sT 781 HRd, IR 91 GADR TH W7 o1 @
iR oft 9™ &1 FeT wraT 8, @ Sfiaq & 3rexf & a1 FIA §1 3R d 3¢ BT SaE IR F 91 g o
@t e [ HAM T | ST $1 e 9 21 v 8 faora A 3@ YR 9 9w srfaal § Tog = 1
e afra 78 &1 v Sier Wig iR W B, W STA FH A TUT |1 3R 9% § ‘I | Fory o # gw T @+
ORI I &, PO 341 I Faa-gad ordf # 'afvar & a1 &1 +ft wahT #2d §1 $© @11 99 FI e
Yapw! § 49y Fell, R gURT faar Ta1 481 81 3a ft-o4ft arar off 8, F3h-3ah sifdaa 9« off
@A ¥ T 21 3R ot pE Hforal F AT SRIAY U HR AT 8, ad ITHT R Y F = 81

ST TRl F UgH - U T ¥y P I<R Ja133:
U - ifguer # uwy 82

1.8

2.d

3.9d

4, 34d

Correct Answer :-

6) SITHER! ¥ T YA SA1ST IS THST 1T 8 | 89 o {6t 3neift &) ugd of &1 Ja% % He-1 ared
€, A1 3 YT Fed 8| YT JIYI J9HE § T SYb WU, g fFARTue IRWEr A A qg ued T &t g,
a1 e 98 foran s T T W AR §, sdh g8 T @ AT € Rig &1 T 4R Y Adt
21 1 WY 9ga T 9 8, afed Fl-saft 3/ off wier 3 € wran B, fheg 1Y B Haft iy HRa T8



A1, 9 @1 a1 are) e S 1Ry, 918 ok TR19, 91 g8 9T 9THA ST 3, 3UP 98¢ R Ut
Ay #t B1ar ot T8 fears 3| Avme ® AR Uy IR $Ad B AdT 8, W g9 i 39 Hff g e
e 3| 3P g% W VTS FIurg Wl &0 & o/ &l 81 Y&-3:F, g1i-ar foeft i a7 3@
gead Jat ¢ | BiE-gfaay & fraq 7o §, 3 [t 3T WISTE1 B ugT MY §, W SeH! 3/ da%®
FEdT 8| TSUN BT a1 3AATGR! HeTid WUTI TR F e Iugea 181 71 e 7, uRaaRmal #
JTBIHT H 7T G B TE 82 Tt ST H 3% YA 18T faan wirar? SR IRTE 76 !ie, IR ) awg
¥ T gaTH T@A €, o AP $H Fa ¢, il A deTs-3rTeT 7l 4, TR a1d D T TN 91d &
e oft ggTH &1 5T wraT B, 3 Siae & ane=f 3t i #vd 81 3R @ $¢ &1 WA URR | 31 W 9
at IS FIG HEAM T | AT Dt BRI I 71 T g faer A 39 SR 3t aa srfaa | g 4
fean AP 719 &1 v Bier Wi 3T ot 8, S ST A T 81 3R 98 & "9 | o ordf A g9 e +T
WORT #3d €, O 30 A frera-gaa ord & afsar & ars' &1 ot a1 #52d &1 $9 @ 3 F1 g
Y9H P! B WdAY F1, TR gURT fIaR ¥ 1 81 S Haft-w ol arar oft 8, wlt-woht aifdaa 9« off
T ¥ 3rar @1 3R WY At F AT ST Y HY a1 §, 3qUd ITDT R 1Y F = g

ITYe TR B! USHR AR U T ¥Y BT IR q4133:
- AGIUN BT T BIeT 82
1. JHIH

2. U=l
3. faeny
4, 3T

Correct Answer :-

7) SHERI § YT I9) STt §fSE aHsn orar 81 g9 o fdt et #) ugd o &1 S9%® HeAr ared
&, 0 I YT Fed 8| TYT FUYE JaHE ¢ U1 ITP WU, P! FARTUE TitwEr 7 ST g uedt § i B,
g e T8 foran s a1 T W AR §, wdt g€ T @ M € Rig #1 T 4R # Adt
21 1 Y 9ga TRe TR 8, afed Ff-saft 3 off wie 3 € wran B, fheg 19 B Haft iy v
A1, 9 3| Rraan =@re) e $ AR, TR S @R, 9 g3 9 A 319 €, I9P A8 W H
Ay # B1ar ot 7Y fears 3| AzmE ® AR UhTY IR FAd B AdT 8, W g9 a1 39 Hf g e
TR 3| IHD Agy W WS faurg Wrdt &0 § BTA136d1 ¢ 1 JE@-3:9, Fii-ary fedt ot g d 3@
edd J81 ¢ | BiE-gfay & Rraq o1 §, 3 Tt ST WIeTE1 F) ugT MY §, W e 3/ 9%
Pl &1 TSIUN BT 3a-1T 3AATGR! HeTid WUT TR F e Iugea 78 31 e 7, uraaRmat #
TBIHT H T S B IET 82 1 ST H 3= YA e} faan wirar? 9 IRTE e fie, ¥R 1) pawg
¥ fore s T §, oft dis® F1 B4 B, fd A asE-3r1sT 78l HR, IR 91 GADR TH W7 o1 8
iR oft 9™ &1 FeT wraT 8, @ St & simexf & ar Fd §1 3R @ 3¢ BT FaE IR F 91 g o
@ TS [ HAM T | ST $1 e 9 21 v 8 faora 3 3@ YR 9 9w snfaal § Tog g4 1
e afra 79 &1 v Sier WiE iR W B, S ST FH A T |1 3R 9% § ‘I | oy o # gw e @71
ORI 3 &, PO 341 I Faa-gad ordf # 'afvar & a1 &1 +ft waliT #3d §1 $© @11 99 FI g
Yapw! § 49y Fell, R gURT faar Ta1 961 81 3d Fft-oft wrar off 8, F3h-3ah ifsaa 9« off
@ ¥ T 21 3R ot HE Hforal F AT SRIAY U HY AT 8, ad ITHT W Y F = B

ST TRl F UgH 1 U T ¥Y P I<R Ja133:
U=~ IR T H forsy STaR &1 forh 781 g8 22
1.7
2. fexa

3.714T



4. Pl

Correct Answer :-

8) SIFaR! ® T oY wa1eT §fSEH JHST ordT 81 gH o forsdt sreHt #Y ugd oot &1 99%® Fe-1 ared
g, A1 3 YT Fed T | YT JIYT I9HE § T Sqb WU, Iq@! fFARTue IRwEr A A qg uedt 2 &t g,
T e = farar s waar ) T i AR €, sad g8 T A sFmar € Rigedt &1 w0 yRor w7 adt
21 1 WY 9ga TR 9 8, afed Fl-saft 3 off wier 3 € wiran B, fheg 1Y B Haft e R
I, 71 S| e gt e B AR, are Sk TR, S g3 9 9 ST 6, 39 98t i) Hlt
SRy o1 B ot 98 e | Ivme # 918 THTY IR $Ad B AdT 8, W gHA df 39 Fft g g
e 3| IuP A5 W WTE FIure Wt &0 & BT &1 81 Y&-3:, gi-ary fdt i e 7 39
Foad el S| BRE-gim ¥ R 7o €, 3 9 ST WIeTs1 F T 1T §, W el 39 95%
FEdl 2| TION BT Fa-T TSI FaTid W IR F forg Iugea 781 81 f{w 71, uraarRmy #t
SPIBT W FT M &Y TET 82 Tl 3diepT § I Yo 16} fan sirar? SR wR1e =8 fie, aR 39 owwg
¥ T gaTe T@A €, o AsHY $ Fd ¢, sl A daeTs-3rreT 1 74, TR I1d GAH T T A1d &
e oft ggTH 1 8T wraT B, A Sitaq & el &t Far w3 71 8RR 3 ST &1 Sae TR | A1 W wra
o IS YW HEAM A | ST BRI I |1 v g e A 39 IR 3 g sfaay ® oy 4
faam Afp 19 &1 T Bter Uig o oft B, S IUW 9 U 31 3R 9% & 'ae | for ok A 7w wer @
WA B4 8, 7O I A fera-gaa o § afsar & a9 &1 1 11 34 &1 O 6 39 S Iae
Yapw! # IIAY F3N, WR R faR T1 7Y 31 99 Hafi-waft urar ot @, s9f-wof sifsaa aa off
@ o 3t 81 3R ot B Aol F AT SRIAY UPHe FHR AT 8, ATd IHDT R T F = B

ST TR P UG 1Y IR T U BT SWR Id153:
T GU-g:@ ¥ B G U 8?2

1. e

2.%%

3. AGRY
4. Sgdlife

Correct Answer :-

9) SHER! | YT TN TGT gfSe - THS S 81 g0 od fadft snewt &1 ugd g +1 995® FHe-1 agd
g, 91 39 YT Fd 8| YT TIYd I9HE § 9T ST G1IuH, I FARTUE IiRwEr A W ag uedi ¢t 8,
391 (g T foran o goar| T W AR €, el g€ T @Y sy € Righ &1 FU 4R R Al
21 a1 oft 9ga e IR B, AfFa sf-wadt 3 i wiy o # 5iman 8, fhg 19 3 i wiy wea T
AT, 9 | e =rel e 3 ARt IR S WR1e, 93t g3 U 1A 319 6, 39P A8 W Hf
SRy Bt B1ar ot T8 fears 3| AvmE ® A1) Uy IR $Ad B ddT1 8, WR g9+ i 39 Hff g e
e 3| 3P A5 W WrE Furg Wl &0 & o1 &1 81 Y&-3:F, gi-arH foeft i a7 3@
dead "8t ¢l Bi-gfat & e 7o €, 3 @it 39 It 31 ugT MU §, W et 39 J9gw
FEdl 8| TSUN BT Fa-1T AHTGR! HeTird WUTI TR & e Iugad 181 31 T 7, uRaaRmal #
SPYRT H T GERI Y TE) 82 Y 3rdiehT ® I YA e fan wirar? Sur TR 7 i, 9 39 guny
¥ T gaTHR T@A €, o AsHT $ Fa ¢, sl A deTs-3rTeT 7 74, TR I1d GAD T TN o1d &
iz 3ft 9T &1 T wraT B, A Sitaq & et & ar w3 {1 3R 3 g &1 Sare R ¥ AT W wra
dt S G HEA™ T | AT Dt BRI Ire 21 T g faer A 39 SR 3t a Srfaal | oy 4 1
fean AP 719 &1 TP Bher Wi 3T oft 8, S STA A T 81 3R 98 8 a1 o 3ref A g9 e *°v
WART #3d €, $O W A frerd-gaa ordf & -afswr & arss' &1 ot w1 #52d 1 $9 @ 99 F1 g



95! B WdAT F1, TR gURT fIaR ¥ 1 81 S Hft-w ol arar oft 8, wlt-woht aifdga 9 ot
@A ¥ et 1 3R Y $E Afal A 3ruAT SRAAY UPpe B AT €, AU ITPT I T A =1 2|

IUYed TR B USHR AR I T ¥Y BT IR q4133:
- Ugd BT H fhaeT yraATers fasror fosan wan g2
1. 3TCH! BT

2. U3 BT

3. ST A PIS TN

4. 9 STl &1

Correct Answer :-
. Ui b1

10) SFERI § YT HEY SATGT gl U 91T 81 g9 99 fHi} et &t ugd ool &1 Ja® wen
ATEd €, Y I YT BEA &1 TYT YIYT GG ¢ U TP MY, TS R0 FiRwEr A 39 a8 wedt §
3t 8, 39T R 1Y farar o wwan | T W AR €, =l gF T A s € Riglt @1 U uRur B
aAdt 81 71 oft 959 T IR 8, A Faft-waft 3 ot wiy o &t wmar 8, g 19 3wl iy wed
2 G, 71 3@ R 916t T 3 AR, v ok TR, 91 g3 9 9 $79 &), 39 g R B
Ay # B1ar ot ) fears 3| Avme W AR Uy IR FAd B AdT 8, W g9 a1 39 Hft g g
TR 3| IHD Ygy W WS faurg WRdt &0 § BT 36d1 ¢ 1 JE@-3:9, Fii-ary fedt oft qd 3@
gead Tl @1 BiE-gial & R o7 €, 3 9t ST WieTsT %1 gy T 7, W et 39 Jaew
FgdT ¢ | TSIUN BT 31T 3AATGR! HeTrd WUT TR F e Iugea 781 31 e 7, uraaRmal #
TBIHT H T S B IET 82 ) ST H 3= YA e} faan wirar? =i IRTE e fie, ¥R ) ang
¥ fore ST T §, oft dis®: F1H #d B, fdl A aS18-3r1sT 78l HRd, IR 91 GADR TH W7 o1 @
iR oft 9™ &1 FeT wraT 8, @ Sfiaq & 3rexf & a1 FIA §1 3R d 3¢ BT SaE IR F 91 g o
@t e [ HAM T | ST $1 e 9 21 v 8 faora A 3@ YR 9 9w srfaal § Tog = 1
e afra 78 &1 v Sier Wig iR W B, W STA FH A TUT |1 3R 9% § ‘I | Fory o # gw T @+
ORI I &, PO 341 I Faa-gad ordf # 'afvar & a1 &1 +ft wahT #2d §1 $© @11 99 FI e
Yapw! § 49y Fell, R gURT faar Ta1 481 81 3a ft-o4ft arar off 8, F3h-3ah sifdaa 9« off
@A ¥ T 21 3R ot pE Hforal F AT SRIAY U HR AT 8, ad ITHT R Y F = 81

ST TRl F UgH - U T ¥y $T I<R Ja133:
- gIH-a14’ § S A1 J9 g2

1. Sgdifg

2. HHYRY

3.%8

4. dgey

Correct Answer :-

11) SFER] § TYT HEQ SUTST g THST 91T 81 g9 99 fHf} et &t ugd ool &1 Ja® wen

TTEd &, dl S/ TYT Hga ¢ | T TIYd I99E 2 IT 39 W18, I9a! AR afgwar A 39 gg uedt
3 2, 39T Hem T fran o Joan | T W AR €, et g¥ T @) s € Rig @1 ¥ urRvr H7
At 21 T oft 959 T SR 8, AfeT Faft-waft 37 ot iy o § wmar 8, frg 19 3 ot iy wed



Y 1, 7 @1 e Trel e $ ARy, 98 9w TR, 9 g3 U WA 319 6, 39P a8 W Hf
Ay Bt B1ar ot T8 fears 3| Avme § 91’ Uy IR $Ad B AdT 8, W g9 i 39 Hff g e
e 3| 3P g% W VTS FIurg Wl &0 & o/ &l 81 g&-3:F, g1i-ar foeft i a7 3@
gead T8t ¢ | BiE-gfaay & fraq 7o §, 3 [t 39 WISTE1 B ugT MY §, W SeH! 3/ d9%%
FEdT 8| TSTUN BT 31T 3AATGR! HeTid WUTI TR & e Iugad 181 31 e 7, uRaaRmal #
JTBIHT H 7T G B TE 82 Tt ST H 3% YA 18T faan wirar? SR IRTE 76 !ie, IR ) awg
¥ T gaTH T@A €, o AP $H Fa ¢, il A deTs-3rTeT 7l 4, TR a1d D T TN 91d &
e oft ggTH &1 5T wraT B, 3 Siae & ane=f 3t i e §1 3R a $¢ &1 WA uRR | 31 W 9
at IS FW HEA™ T | AT Bt AR I 71 T g e A 39 SR 3t | srfaay | oy 4
fean AP 719 &1 v Bier Wi 3T ot 8, S ST A T 81 3R 98 & "9 | o ordf A g9 e +T
WORT #3d €, O 30 A frera-gaa ord & afsar & ars' &1 ot a1 #52d &1 $9 @ 3 F1 g
Y9H P! B WdAY F1, TR gURT fIaR ¥ 1 81 S Haft-w ol arar oft 8, wlt-woht aifdaa 9« off
T ¥ 3rar @1 3R WY At F AT ST Y HY a1 §, 3qUd ITDT R 1Y F = g

ITYe TR B! USHR AR U T ¥Y BT IR q4133:
UH- S g H B ot 131 82
1. 3T A Bl T

2. HIgaE®
3. Sifdaras
4, Afgaardd

Correct Answer :-

12) SHERI § 7T I TS giSET THSHAT 1T 81 89 o Pl et &) ugd gof b1 Sa5® ST
A8 €, Y I YT BEA &1 TUT YUY GG ¢ U1 TP MUY, TS R0 AiRwiEr A 39 a8 wedt §
3 8, 3ot Mg 1Y fopan S wepan 1 T Wi AR €, <ard) g5 T ot STy g Righ &1 U yRur #R
At 81 T oft 959 T SR 8, A Faft-waft 3= ot wiy o &t wmar 8, g 19 3wl iy wed
T8Y 1, 7 @11 fraar Tl T Y ARy, 9 9 TR, 9 g3 9 WA 319 |, 39P A8 W H
Sy @1 g ot 7 fawrs St Azma # 91 ThTY IR $Ad B AdT1 3, W gE i 39 Flt g ga
E ST I dgY W WITS [AuTe RTdt =0 | S/ 54T §1 JE-g:F, gi-ar foedt off gz & s
edd J81 ¢ | BiE-gfay & Rraq o1 §, 3 Tt ST WIeTE1 F) ugT MY §, W e 3/ 9%
Pl &1 TSIUN BT 3a-1T 3AATGR! HeTid WUT TR F e Iugea 78 31 e 7, uraaRmat #
TBIHT H T S B IET 82 1 ST H 3= YA e} faan wirar? 9 IRTE e fie, ¥R 1) pawg
¥ fore s T §, oft dis® F1 B4 B, fd A asE-3r1sT 78l HR, IR 91 GADR TH W7 o1 8
iR oft 9™ &1 FeT wraT 8, @ St & simexf & ar Fd §1 3R @ 3¢ BT FaE IR F 91 g o
@ TS [ HAM T | ST $1 e 9 21 v 8 faora 3 3@ YR 9 9w snfaal § Tog g4 1
fean AfFT 719 &1 v Bier uig 3R ot 8, o STA FH S T 81 3R 98 8 a1 o 3rdf A g9 T @+
ORI 3 &, PO 341 I Faa-gad ordf # 'afvar & a1 &1 +ft waliT #3d §1 $© @11 99 FI g
Yapw! § 49y Fell, R gURT faar Ta1 961 81 3d Fft-oft wrar off 8, F3h-3ah ifsaa 9« off
@ ¥ T 21 3R ot HE Hforal F AT SRIAY U HY AT 8, ad ITHT W Y F = B

ST TRl F UgH 1 U T ¥Y P I<R Ja133:
U- YT BT BICT HTS BT STdT 82

1.7

2. 99

3. i



4. Pl

Correct Answer :-

13) SHERI § 7T I SIS giZSIT THSHT 1T 81 89 o d Pl et &) ugd gof b1 Saf® ST
TTEd &, d S/ TYT Hea & | T TIYd Ia9E 2 T Iqd W19, I9a! AR afgwar A 39 gg uedt
3t 8, 39T Rem 1Y farar o wwvar | T W AR €, sl g¥ T @) s € Rigt @1 U 4Rvr H7
At 81 T oft 959 e IR 8, A Faft-waft 3= ot iy o & wmar 8, fhg 19 3l iy wea
8 g1, 7 31| R 918t e 3 AR, 9 oRi TRie, 9 §F 9 9re 319 ¢, SUd gy W dt
SRy o1 B ot 98 g | Avme # 918 THTY IR $Ad HR AdT1 8, W gHA df 39 Ff T g
e 3| IuP g W WTE Fure Wt &0 & BT &1 81 Y&-3:, gi-ary {5t o qan d 39
gead Tl @1 BiE-giat & R o1 €, 3 9t 39 WieTsT #1 g e 7, W et 39 Jaew
Fedl 2| TSION BT Fa-T 3FTER! FaTid Wi IR F forg Iugea 181 81 f{w 71, uraaRmay #t
SPIHT W FT G &Y TET 82 Tl 3diepT § I Yo 16} fan siar? S IR1e =81 fie, aR 39 owwa
¥ forg gaTe T@d €, o AsHY $H Fd ¢, sl A aeTs-3rTeT 1l 74, TR a1d GAH T T A1d &
fipe Wt 9g-IH &1 FeT SITaT €, @ Sitaq & 3mexi & T Fd €1 3R 3 $¢ F1 a1 URR |/ 1 G W1
@ TS [ HAM T | ST $t AT 9 21 U 8 faorg A 3/ IR $ 9w snfaal § Tog g4 1
e afa 18 &1 v Sler Wig iR W B, 5 STA FH A T |1 3R 98 § 'S | oy o ® gw T @°1
WA B4 8, 7O I A fera-gaa o § afsar & a9 &1 1 71 34 &1 O 6l 39 B Uae
Yapw! # IIAY F3N, WR R faR T1 78 31 99 Fafi-waft uran ot 8, s9f-woft sifsaa e off
@ # 3rar g1 3R ot w3 Hifeal J v ST UPhe R AT B, SaUd 3BT I MY J T g1

ST TR P UG 1Y IR T U BT 3w Id153:

- U9 € g g A fr 3o ) g sifoal 6t At § st 1 fear?
1. YRd

2. AR

3. ST

4. 3{TBIchT

Correct Answer :-

14) SHERI B TYT HEY STGT YISEH TS a1 81 59 9 fhed e 3 ugd g BT Ia%® HeAl
AT &, S YT BEd & | T TIYT 995 @ 1 30 WA, It FAR1ue wfgwar 3 39 98 uedi 2
3t 8, 3uT Ry 18 fran o wwan | TR W AR €, St g2 T ) s € Rigeht 1 U yRuT R
At 31 p1 W 959 T AR B, AfBT Flt-Hl I ot i 3 € wmar 8, freg 19 B wft wiy wRa
Y 1, 7 @11 oA Tl T $ ARy, 98 9 TR, 9 g3 U IHA 319 §f, 39 988 W Hf
SRy 3t B1ar ot T8 fears 3| Avme ® 91’ Uy IR $Ad B AT 8, W g9+ al 39 Hff g g
e 3| 3P g% W WrE fIurg Wl &0 & o1 &1 81 Y&-3:F, gi-arH foedt i a7 3@
ead "8t ¢l Bi-gfat & e 7o €, 3 @it 39 It 31 ugT T §, W et 39 J9gw
FEdl 8| TSUN BT 3a-1T AATGR! HeTid WUTI TR & e Iugad 181 71 T 7, uRaaRmal #
SPYRT H T GERI Y TE) 82 Y 3rdiehT # 3% g e fan wirar? aur TR 7 i, 9 39 guwy
¥ T gaTH T@A €, o AsHR $ Fa ¢, frdl A deTs-3rTeT 7 7, TR a1d S T TN A1d &
iz oft 9T &1 T oraT B, A Siaq & sme=f &t ar w3 &1 3R 3 g &1 Sare R ¥ AT W wrd
dt e G HEA™ T | U Dt BRI I 71 T g faer A 39 SR 3t a Srfaal | g 4 1
fean AP 719 &1 v Bier Wi 3T oft 8, S STA FH S UT 81 3R 98 8 "I | o ordf A g9 e *°7
WART #3d €, $O IW A frerd-gaa ord & -afsar & ars' &1 ot w1 2 1 $9 @ 99 F1 g



95! B WA F1, TR gURT fIaR ¥ 7 81 S Hft-w ol arar oft 8, wl-woht aifdga 9« oft
@A ¥ orrar g1 3R Wt $E Afal A 3ruAT 3RAAY UPpe B AT €, AU ITBT I T A =1 2|

IUYT TR Bl UGHR A1d I T UY HT 3% 9d154:
- YT Y9G SapBI ¢ I’ I | Y © -
1. 7TeT

2. 3T A HIE TE
3. G
4. SaRB

Correct Answer :-

15) WFaR] | YT HGY SATGT giel THS 91T 81 89 99 fi} et &t ugd ool &1 395w wen
e €, Y I YT BEA &1 TYT YIYT GG ¢ U TP WMAY, TS FPR10g FRRwEr A 39 a8 wedt §
3t 8, 3T Mg 1Y farar o wwan | T W AR €, =l gF T A s € Rigt @1 U yRur H7
aAdt 81 T oft 959 T IR 8, dfe Faft-walt 3 ot wiy o &t omar 8, feeg 19 3wl iy wed
2 G, |1 3@ | R 96t T 3 AR, v okt TR, 9t g3 U 9 $79 &), 39 gy ) Hf
Ay # B1ar ot 7Y fears 3| Az ® AR Uy IR FAd B AdT 8, W g9 a1 39 Hft g g
e 311 IqP A5 W WS ure Wl w0 & BT 51 81 Y&@-3:, Fi-ary fdt i A 39
gead Tl @1 BiE-gia & R o1 €, 3 9t ST WieTsT #1 gy T 7, W et 39 Ia%w
FgdT ¢ | TSIUN BT 31T 3AATGR! FeTid WUT TR F e Iugea 781 31 e 7, uraaRmat #
TPIHT H T G B IET 82 ) ST H 3= YA TEY faan wirar? 9 IRTE e fie, ¥R 1) pang
¥ fore ST T €, oft dis® F1 #d B, fdl A aS18-3r1sT 781 HRd, IR 91 GADR TH W7 o1 @
R oft 9g™ &1 FeT wraT 8, @ St & 3rexf & ar #d §1 3R d 3¢ BT FaE IR F 91 g o
o IS G HEAM TG | ST BRI I ? 1 T g e A 39 SR 3w sfaay ® g 4
e afea 79 &1 v Sier WS iR W B, S ST FH A TUT B 1 3R 9% § ‘I | oy o # gw T @1
T $Yd €, $O I A Frerd-gera ord # 'afsar & ars’ o1 4t wahT B | 5O @ 99 B e
Yapw! § Y Fell, IR gURT faar Ta1 48 81 3a Fft-o4ft wrar off 8, F3i-3ah ifdaa 9 off
@A ¥ T 21 3R ot B Hforal F AT SRIAY U HR AT 8, ad IHHT W T F = B

ST TRl F UgH - U T ¥y P I<R Ja133:
- YT foT Y fawed | & @ g2

1. gfed

2. TR

3. $TH Q4 Bis gl

4. JHATHT

Correct Answer :-

16) FraT 6 BTt v, Al v TEh |
e g AT WaT, AfS SRy Sl



ARG GHR o g1 bfet BRI
HHdThd HoHdl 7 3T ST 31d 7 Mg |

ST U= B UgHR A1d T 7Y UY T 3T I13:
- <Pier F war aread 82

1. YA

2. IS

3. DHRIGT

4. HA-HA Te1

Correct Answer :-

17) F1aT 6= w1eft v, i v TEh
e I Aer v, 9fS wdRT i

AFERIGR U T §T B BIfe
YHdaIpd Yabdl I 39 I8! 3Fd 7 A1 |

IUYe U= DI USHR -7 IS TT UY HT IR T34
U9H- §° Ueq 87

18) FraT fh w1eft v, Tl v TEh |
e I AT WaT, AfS SRy Sl

AFRIGR YU T g1 Hid RIS
qHared Gohdl g 3d ISt 3Fd 7 A1 |

ST TS P UgPR A UD T U PT IR qa133:
WH- ‘§N1 HieT drTfe’ Ufdd H S AT SEDR &2
1. %Y

2. gD

3. ©UH

4. A&



Correct Answer :-

19) 14T fiee STeft v, IAfE v
e g AT YT, IS RIS

AFERIGR JUR T g1 Bid RIS
YHdred gbdl I 3d I3 31 7 S |

ST U= $ UgHR A1d T 7Y UY T IR I13:
T GHdrpe § S 01 TN 82

1. %8

2. UG

3. Ay

4, HUYRY

Correct Answer :-

20) F1aT B HTRit ym, i v |
e I Aer v, 9fS wdRT i

ARG U A T B BIfe
YHdaTpd Yabdl I 3 381 3Fd = S |

ST U= $ UgHh A2 U 7T UY T 3R I133:
- U & SR UFERIEY I Hid T ST 82
1. Had AATHD Sita

2. Had IR St

3. B9 $I WR G arell

4, QTR SffaT 3R 3reanfdids sftad gl

Correct Answer :-

21) FraT bR STft ym, Tl v T
e g AT WaT, AfS SRy Sl

AFRIGR YU T g1 Hid BRIe
YHdred gbdl I 3d I3 31 7 SIie |

IUYad TR &1 Ugh A Y T UY BT IR 9d153:



U=H-HaaTh e BT qaiaqrd g2
1. BRI
2. Tiet
3. T
4. Tt

Correct Answer :-

22) FIaT iR STt ym, Il v wEh |
e I Aer v, 9fS wdRT i

AFERIGR U A T B BIfe
YHdaThd abdl I 3 381 3Fd = A1 |

ITYe UL &1 Ugh? ) YD T U BT IR 133
- 3Td BT FHHTH g & 2

LR

2. 3R

3. 3fd

4, AP

Correct Answer :-

23) PaT bR S1Rft ym, Tl v wEh
e I AT WaT, AfS SRy S

ARG GHR ST &1 BT PRl
Yo dred gobdl g 3d IS 31 = S |

IUYR YRR $ UgHhR A12 U 7T UY BT 30 Id133:

URA- FTE1 DI HTT 3R IH B GHH g BT T dTedd 52
1. AT T

2. IR P

3. Ll Bl

4, GHGY DI

Correct Answer :-

o HHAY P]



24) &Ta1 R Fdt v, Il v
e g AT WaT, AfS waRT S

AFRIGR YU T g1 Bid PRIe
YHdred gbdl I 3d I3 31 7 SIfe |

IUYa Ui Y UgdhR 19 IS T WY BT I 9aT3d:
UH- BT, FTYF FUR ?

1. ST

2. B4l

3. DY

4. At

Correct Answer :-

25) HTaT fibe STl v, IrAfE v T
e I Aer v, 9fS wdRT i

AFHERIGR U ST G B BIfe
YHdred gbdl g 3d IS 31 7 S |

ITYed TEIi &1 Ugh ) YD T U BT IR 9153
US- “YHarbd gl i UfRT & B 9T 3PN 82
1. g%

2. 3UHI

3. 3FUT
4. ¥UH

Correct Answer :-

26) CANCELLED

SIHER | YT W SUTST gfadI THE S1aT €1 89 ofd {6t ot & ugd gof &1 39p® ST d1ed 8,
dt I YT HEd | T TIYT 995 § AT ITP WU, IFD! FARTUE AiwEr 4 3@ g8 uedi T &1 §,
91 (g T foran o Jrar| T W AR €, el g€ T @Y s € Rig &1 U 4R 7 A<l
21 1 WY 9ga T 9 €, afed Fl-sft 3/ i wier 3 € wiran B, fheg 19 B Haft wie HRa T8
AT, 7 S| e a8t e B 4R, are Sk TR, S g3 o 9 ST 6, 39 98¢ i) Hlt
SRy o1 Brar ot 98 g | Avme # 918 UHTY IR $Ad HR AdT 8, W THA @ 39 Fft T g
e 3| 3P A5 W WTE FIurg Wt &0 & o1 &1 81 Y&-3:F, gi-arH fat i qun d 39
dead 81 ¢ar| Bi-giat & e 7o 8, 3 @t I It 31 uge 1§, W et 39 J9gw
Fdl g | AGIUN BT FaAT 3FTER! FeTid HHUT IR F g Iuged 181 81 ¢RAY 7, URaaTRm at
JTBIHT H 7T G B 76 82 Tt ST H 3% g 16t faan wrar? SR IRTe 76t !ia, 9 9 pawg



¥ forT ST 7@ §, oft dis®H F1 B4 B, fdl A as18-3r1sT 78 HR, IR 91 GADR TH W7 o1 @
T oft 9g™ &1 FeT wraT 8, @ St & sirexf & a1 F §1 3R d $¢ BT SaE IR F 91 g o
A IS W HEA TG | ST F AT I 81 T € faw A 3@ 99R @1 9 sifaal # Tog g4
fean| AfFT 719 &1 v BT Uig 3R ot 8, o STQ FH S T 71 3R 98 8 a1 o 3rdf A g9 e @+
T $Yd €, $O I A Frerd-gera ord # 'afsar & ars’ o1 4t wahT B | 7O @ 99 B e
Yapw! § T4y Fell, IR gURT faar Ta1 481 81 3a Fft-o4ft wrar off 8, F3h-3ah sifdae a9 off
@A 7 3rar 21 3R oft +E Sifoal J v Sy Upe PR AT §, 3raud SHBT R T J T g1

ST TR $ UgH - U T Uy P I<R JaT33:
- YT BT qgaard 82

1. IR

2. 491

3. 4

4. 97

Correct Answer :-

27) CANCELLED

SERI § YT TR saTel IfSE WU ST 1 79 99 bt st B ugd o ®1 a9 ® HET 9Ted §,
A IV TYT PEd &1 YT FIHT JTPE ¢ 1 IqP WU, IqP} FR1UE IR AT T wedi T R,
3931 g Y forar o1 wopar | T Wi ARt €, el g3 T @ s 81 Righ #1 T yRor ¥ A<t
21 a1 oft 9ga e IH®R B, AfFea Ff-waft 3 W wiy o # wiman 8, fhg 719 3 i wiy wea T8
A1, 9 @1 a1 are) e S °4RY, 918 okl TG, 91 g8 9T ITHA ST ¢, 3UP 98¢ R Bt
Sy @1 o ot 7 TS i1 ARe ¥ 91’ UhTY IR $Ad $Y AT 3, W gHA a1 39 It g1 g
e 3| 3P g% W WTE fIurg Wl &0 & o/ &1 81 Y&-3:F, gi-ar foeft i a7 3@
gead ) 3@ BiE-giat & R o7 €, 3 93 39 WIeTsT #) uge T §, W et 39 Jaew
FEdl g | AGIUN BT FaAT 3FTER! FeTd HIUT IR F g Iuged 181 81 ¢RAY 71, URaaTRmy at
SPIPT W FT g & 78T 2 Tl 3diepT § I guA e} fan Shar? Sui wRie =€ fie, ¥R 39 gawa
¥ forg gaTH T@A €, o AsHR $ FRa ¢, il A deT3-3rTeT 7 R4, TR a1d D T TN o1d &
e oft ggTH &1 7T wraT B, @ Siae & ane=t 3t HHar v §1 3R a $¢ &1 WA uRR | 31 W 9
dt IS GG HEAM T | AU Dt ARITE I 71 T g faer A 39 SR 3t a srfaa | oy 4
faan) AP 719 &1 v e Wi 3T oft 8, S ST A S T 81 3R 98 & "I | o 3ref A g9 e ®°1
WART #3d €, O IW A frerd-gaa ord & -afosar & ars' &1 ot w1 $52d 1 $9 a1 99 F1 g
Y95 W! B WdAT F1, TR gURT fIaR ¥ 7 81 S Hft-w ol arar oft 3, wlt-woht aifdga a9« oft
@ ¥ mar 21 3R ot B Afoal J ST SRIAY UPe HR AT 8, AUd IHHT R 1Y F = B

ITYEd TR B USHR A U Y ¥Y BT IR q4133:
- 1Y | fa®T I i aAr ar g 2
1.7

2. 99

3.qR

4. Pl

Correct Answer :-

. 99



28) CANCELLED

P11 Y SR AT, (AT WaT TEH |
e I AT WaT, AfS SRy Sl

AFRIRIGR GHR ST &7 BT PRIl
Yo daIpd Yabdl I 3 38! 3Fd 7 S1E |

IUY YRR F Ugh 12 U 7T U T 30 I133:
- U & SR §AT &1 ygiaar! gl 872
1. Yddqué

2. Ryque

3. AR

4, HTHIE

Correct Answer :-

29) CANCELLED

H1aT b HRA ym, AR var |
e I Aer AT, 9fS wdRT i

AFERIGR U ST G B BIfe
YHdred gbdl g 3d IS 31 7 S |

IUYed UL &1 Ugh ) YD T UY BT IR 153
U=H- gAT BT ygigars g2

1. a1

2. 3K

3. foRT®

4, d™d

Correct Answer :-

30) PIaT b HRA T, AR war |
e g7 AT v, 9fS sdRT i

AFRIRIGR GHR ST &7 BT PRIl
Yo daIpd Yabdl I 3 Ss! 3 7 SR |

ST IR P UgHR -1 T 7Y UY BT ST IA134:



- “HTEr 7132
1. g4

2. T

3. foban

4. faQwr

Correct Answer :-

Topic:- Social Science (S5C)

1) Who is the political head of Cabinet secretariat? / HfiAHEsd ARATTT $T AeHa® TE P 82
1. Prime Minister / GUTTHAT

2. Secretary / gfd
3. Cabinet Secretary / HAHed g
4. Cabinet Minister / Bfamc T}

Correct Answer :-

« Prime Minister / YUTTHA]

2) What is also called as the ‘Hare system’? / T UG B 3R T el SITdl %?

1. List System / ﬁ?ﬁ (feree) vromTet
2. Alternative Vote System / LA ARl

3. Category Based System / Ovi| 1%%‘@) YT Jorre!
4, Single Transferable Vote System / U ¢l EE'I?ITUﬂU Jie Juett

Correct Answer :-

« Single Transferable Vote System / Udh ¢ S%didﬁu(l\lbl gie Jumett

3) Which is not a part of the National Action Plan on Climate Change? / g ?q oA NEIE

aftad= W gy S Ao o1 e T @2

1. National Water Mission / ﬂ@ﬁ SNREEE]

2. National Mission on Pollution Control / ?T@'q Ugyul [GRELRENE
3. National Mission on Sustainable Habitat / Tl'gﬁ'q Fd gafarur ff=E



4. National Mission for Sustainable Agriculture / QT@’H YR ?ﬁf e

Correct Answer :-

« National Mission on Pollution Control / T@’q Ugyul [BRERENE

4)  Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

@ = & i

1. %1 gl A. TEAF (1936)
2. Aer ReE B. I[=1d (1928)
3. IS HoIEIg C. T (1922)

4. NG AET e FET | D. 91 (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3.1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / RE G@H B ?FI%?
AP P SR GH-T-TFH B U & 7S A

1. Jahangir / GlSWIJiR

2. Humayun / EﬂTii

3. Babur / dldX}

4. Akbar / b

Correct Answer :-

« Humayun / E'QTC:[:



Active learning starts by posing questions, problems or scenario. This is best represented in: /
fer fRreror g, Taxrs a1 uRexg H IRgd PR A ARY BT g I SAPT IR DT WeRA__ H
2l

1. Problem-based learning / GHRAT-STYTRT SHferTH

2. Technology-based learning / WeNfe)-sneria sifrm

3. Inquiry-based learning / 3FAWUI-3TETRG AT

4. Activity-based learning / Tfafafe-anena siferma

Correct Answer :-

« Inquiry-based learning / 3=NUI-3TTR 3IEATH

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to
unscientific human intervention. In which country is Aral sea located? / ‘3[¥d IR’ ﬁ%’ |

9 T 3l o A T 8 1 Sraq-ie WFd g¥daY & HIRUT I a3 | 9 81 1S 2
IR AR by 371 § fRa 872

1. Kazakhstan / ®oTRaSd

2. Estonia / Q@ﬁfﬂ
3. Latvia / @Tqradr

4. Venezuela / aﬁ\_ﬂﬂ?ﬂ

Correct Answer :-

. Kazakhstan / BOITRIEI

8) is a system introduced by the government where the issue price of food is much
lower than the market price to enable the poor to purchase the subsidized food. /

WHR FRT IR B T T qumrelt B, R afwe ard 2o ot @i ¥ g e 7t
H&H B gd T Uit &1 0 o7 99k o0 9 959 $9 gia1 8

1. Peoples Distribution System / ST a0 JUTelt

2. Public Direct Service / JIdoI-eb Uef Idl

3. Public Distribution Scheme / JTaoT-dh fId0T TSI
4. Public Distribution System / Tawii1dh fadauT FoTeit

Correct Answer :-

+ Public Distribution System / et faawor yomert

9) vote is exercised by the speaker in the house in case of a tie where in equal
numbers of members have voted in favour or against a bill or resolution. / JHTFT (2T3) &t fRUfT



# Saf fadu® a1 udTd & U4 U9 faRIY # o) &1 A -1 A A fhar g1 99 Jed | 3regef giRT
Hd T IUANT foHar Srar 2|

1. Absolute / FRU& (TsHIT)
2. Primary / PItca
3. Relative / T&ldd
4, Casting / BIIREY

Correct Answer :-

. Casting / Fuifas

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /

fFrafafaa gearsi/ sigial &1 39& FIawd & gaR Tl 0 T TafRUT HI:
1. ST 91T §ATHIS

2. fo<ita afdTa srasm sigia=

3. 915U HHIYH T g R

4. YRT BIS! SHigla=

1.2-3-4-1

2.1-2-3-4

3.1-3-4-2

4.1-3-2-4

Correct Answer :-

. 1-3-2-4

11) The Play 'Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / = TST'E[ IEEIEARS

e Ared Hia-gdur # sae! fRufa &1 fosror fear manr @
1.Weavers/§:|w

2. Indigo Planters / Aiel ST gl

3. Landless Labourers / U-‘[&[Eﬂ:[ QGI@Q-I'




4, Bengali Artisans / SISl DRITRI

Correct Answer :-

A\

« Indigo Planters / SINEINIERIRED

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / Wﬁ'
Rrarel ggRT™ &1 {5 af WRTST e & =U | qr61 UgHET T U2

1. 1680
2. 1674

3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative marketing of

agricultural produce for the benefit of farmers. / XPIRR AfFaIF AU S ﬁl'l'{ qaﬁr LTk m fago=
H 9g1aT1 3 F 3T A &1 YT 1 3|

1. National Agricultural Confederation Management Fund of India Ltd. / <R[ T eard BT HHE S
3T Sfear feifics

2. National Agricultural and Commerce Management Federation of India Ltd. / ERIE] Q’ﬁﬁw us Sy AAeHe
e T 3t 3fear feifics

3. National Agricultural Cooperative Marketing Federation of India Ltd. / EEEK| TiheaRd PISfTReT AT T
s 31 e feifires

4. National Agricultural Cooperative Management Federation of India Ltd. / A T eRd BRI Ao
s 31t e ferfres

Correct Answer :-

¢ National Agricultural Cooperative Marketing Federation of India Ltd. / -1R[-¢] T eeRd HISfoRied AT e

e 3t gfEar ferfes

14) Right to Education Act came into effect on ./ g &1 ftreR aiftfeay | [S1D
BATI

1. 1 April 2010 / 1 3 2010
2. 1 March 2011 / 1 9/ 2011
3. 1 February 2012 / 1 a3 2012

4. 1 May 2009 / 1 T3 2009

Correct Answer :-



« 1 April 2010/ 1 3{Ud 2010

15) is the difference between the value of a country's imports and exports for a given period.

/ , forelt &Y 715 arafyr & fore fonslt A1 & smara ok Frafa e & T &1 siav 1
1. The Balance of Economic growth / 3 e &1 Tgem

2. The Balance of Payment / HTTdT- T Jdel

3. The Balance of Trade / SR T A

4. The Balance of Exchange rate / fafAg ax &1 LENE

Correct Answer :-

« The Balance of Trade / SATIR b1 HJa

16) Rajukas appointed by king Ashoka performed the following duty? / ITSIT 3P GRI

forgaa w9l A Fafafea sde A
1. Revenue / X[oI¥d

2. Religious / eTfHe

3. Military / I

4. Judicial / T

Correct Answer :-

. Judicial / TR

17) MRTP stands for ./ THIREGT &1 ﬁ'\‘ﬂ_ﬂ' Y gl

1. Monopoly & Restrictive Trade Prohibition Act / e eI | @m E@I PINEEE] Udac
2. Monopoly & Restrictive Trade Pact / ot @@% 2_5' BE

3. Monopoly & Restrictive Trade Practices Act / et Q@'m 2_6’ PIERR| Udc

4. Monopoly & Restrictive Trade Prices / oIt Q@iﬁ%\% %fs’ EIE@?

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act / ot @@% E_S' U Tae

18) At which places are the cave paintings found? / J[WPT ICE] (ﬁﬁ'm) P R R Uw T
&2
1. All the above / SURTeT GHI



2. Bhimbetka only / hdd HiHadTh]
3. Badami only / PHad SIgrH
4. Ajanta only / Had oIl

Correct Answer :-

o All the above / IR g4t

19) Ashtapradhan was the official council of: / SIFUYUTT SHDI MBI G Wﬁ'q?{ YT:

1. Mughals /Hrl?ﬁ 2l
2. Marathas / ARTST3HT BT

3. Afghans / 3BT BT
4. Rajputs / JSTY] BT

Correct Answer :-

« Marathas / TRT3T3{I BT

20) In which among the following years, did India conduct series of nuclear tests? /

fFrefafa o 3 frw af & ura 3 wramy) wdheon $t gaar v smafm a1
1. 1998
2.1997
3. 1999

4. 1995

Correct Answer :-

o 1998

21) Who has the monopoly in issuing currency notes in India? / HIRd T Hal (ﬂﬁ?ﬁ) e

VR #3 A 51 ThIiUeR 82
1. Commercial Banks / aTfoTfoe %
2. NABARD / ATETS

3. Ministry of Finance / IESKEINE]
4. Reserve Bank of India / HR<H Rerd §

Correct Answer :-



« Reserve Bank of India / HRA Rold dch

22) Who was the President of the Constituent Assembly? / TfIemT IHT & 3reged B A2
1. K.M.Munshi / .09, Gt

2. H.C.Mookerjee / Qﬁ@[ H”@\_rﬁ

3. Dr. Rajendra Prasad / SIS ARSI

4. Dr. Ambedkar / 8. 3FISHY

Correct Answer :-

 Dr. Rajendra Prasad / 31, X% U4IG

23) Who gave the famous slogan “Garibi Hatao”? / "TRIET geTsi" &1 RIS AR faq
fear?

1. Rajiv Gandhi / JTSfig el

2. Jayaprakash Narayan / SIUUD IR ARTYU]
3. Indira Gandhi / S{GX] Tieft
4. V. P. Singh /1. O1. &g

Correct Answer :-

« Indira Gandhi / ST TTieh

24) Who is the proponent of social recitation method? / IS JEER UTS UG fd &1
TRATGD DI 82

1. Max Weber / Hq J&R

2. Karl Popper / BT 1R

3. Auguste Comte / 3RS DI
4, Adam Wesley / USH CR|

Correct Answer :-

o Adam Wesley / USH GEsy]

25) Who was well known as Lokhitwadi? / f=8 @i igddard! & ¥4 H ST ST Y12
1. Gopal Hari Deshmukh / UICIRER] %QT&E-



2. Jyotibha Phule / SIfEl Bt
3. Ishwar Chand Vidyasagar / R d¢ [TINrR
4. M.G. Ranade / UH. Si. IS

Correct Answer :-

 Gopal Hari Deshmukh / et gt a'Q'IHTQ'

26) A teacher gets immediate feedback by conducting WAY: Rrere Cg

ST gRT debTd Ufayfd ured & gl

1. programmed evaluation / RERCR HeY Toh]

2. summative evaluation / ATTE® JedidhH

3. diagnostic evaluation / er® Jj\cqiq?"l
4. formative evaluation / FTHTOTE® Hedid1

Correct Answer :-

. formative evaluation / FTHTOTE® Tedia

27) According to the Constitution, India is best described as a . fayE & SIJ¥NR,

YR & g 3 & U A afvfa ferar manr g1
1. Union of States / WWW
2. Unitary State / Uch[Hd Y

3. Sovereign state / YUY I
4. Federation / B8R

Correct Answer :-

o Union of States / I} BT Y

28) India achieved self-sufficiency in food grains by the year ./ HRG A a9

T @rend o srefRear g1ie a1
1. 1956
2. 1986
3.1996

4. 1976

Correct Answer :-



29) has replaced the Planning Commission of India. / = YR FioT
TN T I & R g1

1. Antyodaya Anna Yojana / 3G 3 A

2. Yojana Upay / TSI SUTT
3. Yojana Aayog / AT STRT
4. NITI Aayog / HIfdl ST

Correct Answer :-

« NITI Aayog / Sifcl ST

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

fd & fore faenfdal &1 siftnma Te<h sfsarsal a1 sasiial & ugar=-n &
Y H ST STa1 81

1. Unit test / ST URT&IUT
2. Diagnostic test / e Tiem

3. Prognostic test / uifagTiRie uieror
4. Achievement test / SUTS TI&0T

Correct Answer :-

« Diagnostic test / a1 ulieun

31) The major objective of dramatization in the teaching of social science is: / TS

o= & fRreror & Aree iy T uiaR 1 UHe 38R A ST g 8
1. Comprehension / Y
2. Knowledge / 3T

3. Research / 3(JHYUH
4. Application / 3TdG-

Correct Answer :-

« Comprehension / Y



The ‘Panchsheel’ agreement was signed between ./ “UTRIe oS R &
e g1aR feg )

1. China and Tibet / 1 3R fossd

2. Pakistan and China / Hllra?*&dl"l G‘ﬁT t{nl'-l

3. India and Pakistan / HRd 31R UIfep&d™
4. India and China / HRd 3R 99

Correct Answer :-

« India and China / ¥Rd 3R 99

33) The age of the earth according to majority opinion is: / SgHd & SR, quﬁ L4 31y

1. 40-50 Billion Years /40-50 fafera o
2. 4-5 Billion Years / 4-5 fafera adf
3. 4-5 Million Years / 4-5 fafera ool
4. 1-2 Billion Years / 1-2 fafcro av

Correct Answer :-

o 4-5 Billion Years / 4-5 %ﬁ‘lﬂ:{aﬁ

34) The strategy that enhances student knowledge and enables them to acquire
collaboration, communication and independent learning skills and prepare for lifelong

learning is: /ﬁmﬁﬁwmﬁm%aﬁ?ﬁmﬂ,waﬁvwaﬁ‘w
DI YT B 3R SToita R F e Jarw a1t 8:

1. Written assignment method / ferfad H‘-I‘j,a-‘ll"l ggfd
2. Project method / RS Ugfd

3. Practical method / L—Iq\I‘IId-IOb M&I?I

4. Demonstration method / THTONEHIUT q&lé

Correct Answer :-

 Project method / RIS Ugfd

35) The advantage of discussion method is: / T faf¥ &1 AT 1Y B:
1. Emphasis on learning instead of teaching / 2787071 o SO T WR IR



2. Emphasis on learning with lecturing / Q4R & 1Y ST R SR
3. Emphasis on learning with technology / WD & 1Y AT R SR
4. Emphasis on learning with activity / HRIGAT & 1Y HfITH R SR

Correct Answer :-

« Emphasis on learning instead of teaching / fR187071 o SO AT W IR

36) The only session of the Indian National Congress which was presided by Mahatma
Gandhi was held at : / WIRel1d T HTUA BT THAT T forTept sreqafar wgredm mieh 3
ot 41, gl smaiford fasar o

1. Allahabad / Sdlgldlg
2. Belgaum / CRUIES
3. Karachi / B

4. Surat / JId

Correct Answer :-

+ Belgaum / CRUIES

37) The qualitative judgment of value and purpose is: / e 3R G%Q'q Cal

U fAvia giar g1
1. Evaluation / Jedich
2. Marking / 3{&h+

3. Examination / O31&70T
4. Grading / DlvicRy

Correct Answer :-

« Evaluation / HeTh

38) NSE stands for ./ ‘Flw_sc Ca| ﬁ?ﬂﬁ' =q %I
1. National Support Establishment / AT I Q@'@mﬂ?
2. National Statistical Economy / TIHd TieRedwd gH-mH!

3. National Statistical Enumeration / RMd T feRedhd E'g'jj-l\{-‘ll b

4, National Stock Exchange / ENENRSIEE QOR-It\{'\YI

Correct Answer :-



« National Stock Exchange / ENENRGCTACNEN

39) Which is not a characteristic of formative evaluation? / B Il fFwfoTT® Hodip G|
T faRyar 781 82

1. It is an integral part of learning process. / g SHIEATH Dt UlchdT ol T SN i gl
2. It is generally a teacher made test. / Ug 3H ?‘ﬁ? I Uh @T&W aRT ﬁﬁ:ﬂ Udh 13Rofc‘.’zIT %I

3. It pinpoints difficulties being faced by a weak learner. / dg Udh FHroR et & g em
aTelt B3l Bl SR BT 5 |

4. It does not help in the modification of instructional strategies / g &Iﬂ%mm Ut &
=lle H 7eE 181 P 8|

Correct Answer :-

« It does not help in the modification of instructional strategies / g &Iﬂ%ﬂm Uit &
=lle H 7eE Te! P 8|

40) Which is not a correct statement? / ﬁuﬁi@a =k CaC| I b W?f DY :l—bpf %?

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / IR Gl Q’I\'il‘.‘qr

fafewr Swe Sfear S 3R iR SR & g @St 18 oY

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / ARIRT q il ﬁﬁ{ g
fafesr 3fR Y Yoo & s ST 7T T |

3. Partition of Bengal took place in 1905. / STITd b1 fausH 1905 | g3II

4, Queen Victoria took the title of Empress of India in 1876. /Il_ETITI:ﬁ faaeifaT = 1876 § YR &t
TR &1 RIdTe U fopar|

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR Pl Qis_l'-::

fafew S ST Humt 3R AR TR & S @<t 18 ot

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ faur™

A B T G T R HHR &1 Ay gwif dar @2
1. 369
2. 368
3.370

4,353

Correct Answer :-



42) Which of the following types of method gives priority to the individuality of the student?

/ FFrafafaa # 4 fra ver 9t fafy o= & Jufeaea & uruftea 3t 82
1. Learner centered / TRT&meff Sfga
2. Teacher centered / TR1&/® digd

3. Lecture centered / RS abl?‘«d

4. Subject centered / faTg Piad

Correct Answer :-

« Learner centered / TRrameff fga

43) Which of the following is not one of the conceptual pillars of Human Development? /

rafafed 3§ & a1 e RN & e Wi 4 S T T8 82
1. Sustainability / FRRdT

2. Productivity / SdTahdl

3. Equality / JHIAdI

4, Empowerment / BEICSERU

Correct Answer :-

« Equality / JHIACT

44) Which of the following learning method is most effective in social science learning? /

fFafafeaa & 3 o9 @ siftrm fAftr i fagm dem & 9ed gurdt 32
1. Learning by reading / U3 gRT 3 TH

2. Learning by rote memorization / 3] TR gIRT 3feTy

3. Learning by doing / m ST

4. Learning by hearing / 40T gRT (&Y

Correct Answer :-

« Learning by doing / fehameidh HfTH

45) Which of the Indus Valley Civilization cities had a dock? / Rit] 9T&} T vaar a1t fbs
e | Sid UT?



1. Harappa /g SWMI
2. Lothal / Sy

3. Alamgirpur / \’rﬂT“IIl"ﬂTER
4. Kalibangan / HTATST

Correct Answer :-

o Lothal/ a‘rzra

46) Which among the following is a critique of society and culture drawing from knowledge

across social science and humanities disciplines? / IBLINIEEE] 73 HOSFL TTHISTS ﬁ?l'ﬁ 3R
IS fawal o I gRT THTS 3R TXpid BT FHieT Hedr 82

1. Marxist theory / I G AR R AT
2. Class theory / aif Rigid

3. Critical theory / STAMIHTHD RIGid

4, Revolutionary theory / gRacaret Rigid

Correct Answer :-

« Critical theory / 3TeTHTHS Rigid

47) Which country has presidential system and executive powers are in the hands of the

President? / f® <=1 & wrgufa yomedt 8 ok wrieR} wfeal wgufa & g1af 7 gidl 82
1. UK / gob

2. France / /I

3. USA / qUYU
4. Canada / TSI

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt
manner. Which technique can be used to study his/her personality traits? /

TS g1 ol ST T §, 98 Ge B Gd dRid I 3 B A SAg P g1 bl
T 1 TP AfRId A&V BT eHYT HIA & e {5 qop-ite o1 vanT fFar s goar 82

1. Projective technique / giRaiford dbniie



2. Dramatization / e JUTdR
3. Demonstration / THTONEHIUT
4, Role play / A W

Correct Answer :-

« Projective technique / gfRaford deb-itep

49) Which of the following is definitely achievable in a span of one period? / ﬁ";'lﬁl'@a k- ar fAfea
Y I TP Ay & feRTe H U g1 Ihg 32

1. Ideal / 3 GQi

2. Aimless / ﬁm
3. Objectives / GQQEI

4. Oversight / TARI&0T

Correct Answer :-

» Objectives / 3§Qq

50) CANCELLED
What part of a tidal cycle has minimal current? / SR g% & f6g URT A GAdH YRT

i 82

1. None of these / S8 § &g gl
2. Flood tide / SARIYT §1¢

3. Ebb tide / HTCT

4. Slack tide / T (i) YRT
Correct Answer :-

« Slack tide / & () YRT

51) Who was not the leader directly involved with Khilafat movement (1919-1924)7? /

379 T B9 9 A1 fAgie Sigiaq(1919-1924) T Tge U I 781 9 A2
1. Mohammad Igbal / H\IG”-IQ ERCIN|
2. Mohammad Ali / HIgF< 3feft

3. Pir Ghulam Mujaddid Sarhandi / R TdH gallfdg WRg4]
4. Maulana Shaukat Ali / TG i Sfait




Correct Answer :-

« Mohammad Igbal / J-I\IEN-J-IC'« ER I

52) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of
Yavanas on the bank of River Sindhu in the hands of Vasumitra? / YT YR ATe®
ArafaeifEEy fea forar o, forad Rig 78 & 9 IR o & 314l ga=1 &1 gR &1
I UT?

1. Asvaghosha / Sy
2. Harsha/ B'Ef

3. Sudraka / [
4. Kalidasa / BTG

Correct Answer :-

. Kalidasa / PTG

53) Due to which of the following winds, Central Europe enjoys a warmer climate? /

fFrafafaa ¥ 9 f5a sa1 & SR, g QRIY T TH FTaarg $7 3¢ SoTdT 82
1. Bergwind / STO&

2. Zonda / SISl

3. Foehn / BH

4. Chinook / fa[&

Correct Answer :-

o Foehn/ Ior)

54) Which of the following is not a high cloud? / Frufafed § Q@ 19-91 3= arga (31%
FIATSS) 75l 82

1. Stratus / &R} STGd (¥CH)

2. Cirrostratus / U&TH TRI dled (RRICCw)

3. Cirrus / G&TH dTd (RR9)

4. Cirrocumulus / G&TY HUTH! dTad @W@

Correct Answer :-

. Stratus / TR I1Gd (¥¢CH)



55) Which of the following is not a temperate Grassland or Shrub-Land Biome? / Fafafaa

A A B qEharor T 91 FIEeR a8 (Tas ) T8l 82
1. Sahara / 9gRI

2. Veld / 9¢8

3. Prairie / U_1

4. Steppe / dt

Correct Answer :-

« Sahara / "eRRI

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / q%aﬁ TR 999 T

RIT <31 Srehiforare: fora gxr & fRya 32
1. Libya / QilfadT

2. Sudan / JSIH

3. Congo A

4. Nigeria/'_‘m:'ﬁﬁm

Correct Answer :-

. Libya / Slife

57) The Treaty of Bassein was signedby  on December 31, 1802 with the British. /31

fedeR, 1802 &1 m&@sﬁ%muaﬁmaﬂvﬁrwm&nmwwl
1. Yeshwantrao Holkar / IRIAcRTd BICThR

2. Daulatrao Shinde /Eﬁa?ma’ 131%
3. Ghasiram Kothwal / SRIRTH BIddTd

4. Bajirao 11 / TSR 11

Correct Answer :-

« Bajirao Il / STeiR™E 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / XTH &I

g a1 v g Fafatea o 3 fea @€t 4 fRa 32
1. Cook Strait / $b DI @IS
2. Bering Strait / Waﬁ@ﬁ



3. Palk Strait / Uld SICISHX™HY

4. Strait of Tebrau / CER® P @'@

Correct Answer :-

« Palk Strait / Yl SIcfSHESHY

59) E-learning in social science helps the students for: / IS Ay & $-affn ol &1 = &
g Pl 8:

1. Simulated learning / W 3Ty

2. Rote learning / & T

3. Learning by doing / m RIIRpess

4. Anytime and anywhere learning / Hut off 3R Pol Ut s

Correct Answer :-

« Anytime and anywhere learning / Haft oft ok Dol HI ffeRTH

60) Where is Ring of Fire located? / 37 3T wrR ﬁ\f@-ﬁ %?

1. Along the coast of Antarctic Sea / 3feTdhfcd YRR & dc & 1Y

2. Along the coast of Atlantic Ocean / 3fedifcd IR & dc & A1y
3. Along the coast of Indian Ocean / %7:{ He TR FHACH Y

4. Along the coast of Pacific Ocean / URITd HERINR & qC o 1Y

Correct Answer :-

 Along the coast of Pacific Ocean / URId AR F T H Y



